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Public Administration

Paper II

weh qomEd
goatent 11

Time Allowed : 75 Minutes]
: This paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt All questions.
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Who shares the following view ?

“Public Administration consists of
all those operations having for their

purpose the fulfilment or

enforcement of public policy.”
(A) Dwight Waldo

(B) L.D. White

(C) Luther Gulick

(D) Woodrow Wilson

Woodrow Wilson provided the
rationale for public administration

tobe oveeiiiieiiii .
(A) Public Law
(B) An academic discipline

(C) Professional Speciality

(D) Public Policy

1.
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Which one of the following
statements is not correct in respect

of New Public Administration ?
(A) It is market oriented
(B) It upholds public interest

(C) It

autonomy

advocates managerial

(D) It focuses on performance-

appraisal
In administrative approach
and philosophy, Kautilya’s

Arthashastra is nearest to which of

the following ?
(A) Henry Fayol’s principles

(B) Weber’s ideal-typical bureau-

cracy
(C) Good governance
(D) Fred Riggs’s principles

The democratic leadership style goes

with :

(A) Theory-A
(B) Theory—X
(C) Theory-Y

(D) Theory-Z

3.
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(A) T IefigE TR

(B) d SHfgden Hew <d
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ETG
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The first great advantage of scientific

management is :

(A) More Productivity

(B) Initiative of Workmen
(C) Scientific method

(D) Initiative of Manager

From the following qualities
which is not required for good

governance ?

(A) the art and skill of utilizing

political power
(B) good leadership
(C) autonomy to executive powers
(D) to avail consent of the governed

Who said that “Organisation is a
complex network of decisional

processes” ?

(A) Robert Owen
(B) Riggs

(C) Herbert Simon

(D) Chris Argyris

6.
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I SFIEAH= gfeell HIgT HIEE]
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(A) e IcAEhdl

(B) SRR JelhX

(C) IS usd

(D) FEEATIHTAT JRTHR

TTeTedehl IV fagTomn gRmEAe!

FAEIR AR ?
(A) TSI Tl ATRUAT el o BT

(B) gigw

N0

(C) TR Toet Ll

(D) Infgdr= GHdiEl Sevdehd

1 Toig i e Sifed Sies 3R,

Y R WM ?
(A) T2 3ia
(B) o=

(C) Boid HIEHA

(D) o stfmifea
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Match List I with List IT and select

the correct answer from the codes

given below :
List 1
(@) Economic Man
(b) Decision Tree
(¢) Simulation
(d) Delphi Technique
List II

(1) Graphic depiction of alternative

solutions

(2) Avoid face to face

communication
(3) Optimum decision

(4) Trial and error approach to

complex problems
Codes :

@ ® @© @
A 3 O @ @
B) 2 @ @O O
<o @O 2 6 @

O @ 3 @ @
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10.

11.

12.

Which of the following is an example

of negative motivation ?
(A) Money

(B) Status

(C) Reward

(D) Fear

The first conference on Comparative

Public Administration was held in

(A) 1951, Princeton University
(B) 1949, Harvard University
(C) 1950, Maxwell Graduate School
(D) 1952, Princeton University

“Comparative Public Administration
is linked closely to the study of

comparative politics”. Who said ?
(A) Riggs
(B) Robert Dahl

(C) Ferrel Heady

(D) Montegomery

10.

11.

12.
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ETeATeTdeh! T ThNIcHE  ATTITO=

IQTEL0T 3R ?
(A) T
(B) =il
(C) Tfaifoes

(A) 1951, f==a fo=mdis
(B) 1949, zde fommdis

(C) 1950, HeRgddl UYUE Thdd

(D) 1952, =" fo=mdis
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A) fo=i

(B) U« siee
(C) w7l
(D) =R
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13.

14.

15.

The ‘Spoil System’ in

Administration was introduced in

USA DY e .
(A) Woodrow Wilson
(B) Franklin Roosevelt
(C) Andrew Jackson
(D) George Washington

‘The Rule of Three’ is a feature of
civil service in ........ccccceeeennnne .

A) UK

(B) U.SA.

(C) India

(D) France

The

Fulton Committee was

appointed to study ...........c.......... .
(A) Home Civil Services of Britain
(B) Civil Services of U.S.A.

(C) Civil

Services of Pre-

Independence Period in India

(D) Services of British Treasury

13.

14.

15.

APR-2121711—A

TR T STHRehd (TH.T, ) WRIARTA

(A) g2 faeaa

(B) Widay ®gldee

(C) 31——\3 SEXSE]

(D) witst anf¥ien

‘e fram’ ® et gaet dom afyrse
e

(A) T (Zh)
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16. According to whon “Development

17.

18.

administration is a carrier of

innovating values” ?
(A) Edward Weidner
(B) Fainsod

(C) Midas

(D) Montegomeri

Development administration

emphasizes On ........cccceevvvvevevnnnns .
(A) Regular work

(B) Development work

(C) Structure oriented work
(D) Status quo work

The main function of International

Monetary Fund is :

(A) To encourage foreign

investment

(B) To lend money to the private

sector

(©)

To provide financial support
(D)

To promote exchange rate

stability

16.

17.

18.
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e ?
(A) TSI dAEER

(B) ®wdre

(C) THe™
(D) WI=TE

A) frafma =
(B) foormm =g

(C) = sifvgE e
(D) it &
SRS A0S T afrse o

(A) T TAIUERTC HIeaTe
(B) WISF{t &=MHed sl qLaal
(C) foxia weeE Qa0
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19. Match List I with List IT and select

the correct answer from the codes

given below :

(@)

(b)

(c)

d)

(1)
2)
3)
(4)

List 1

Frontiers of Development

Administration

Temporal Dimensions of

Development Administration

Development Administration—

Concepts, Goals and Methods

Development Administration
List II

George Gant

F.W. Riggs

Dwight Waldo

Irving Swerdlow

Codes :

@ b)) @© @

@ QO @ & @

B 2 B @ @
©c @2 B O @

O @ @2 & @
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19. T I 2 F=i 11 Sesan 3Tvn @t feeie

(@)
(b)

(c)

d)

(1)
(2)
3)
(4)
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il |
THRA TEHNN Sh SwaTHe
et
XA HeHfTRIE — He,
Mew 3f~e Aoed
SRATHE SFSHMEYH
e 11
EIGHS e

Th. =g, o
gdge oSl
wfam wa

- -
-
-

(@ Bb) (© @
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20. Follet propounded the concept | 20. i JMET HheT T R
0] AR . shedl.
(A) Constructive conflict (A) =S Heol
(B) Authority (B) AfHshR
(C) Power (C) &=
(D) Leadership (D) T
21. The British concept of civil service | 21. - Fam deea=nt fafest Tawmean
neutrality is laid down by : | .. o
(A) Fulton Committee
(A) Tered |fyd
(B) Assheton Committee
(B) afered |fidl
(C) Masterman Committee
_ (C) HRETHA |t
(D) Northcote Trevelyn Commi-
ttee (D) fdehie Ie= afd
22. The role of the Cabinet Secretariat | 99 sy Hfgarcam agfigepy o
IS crrrrrrrrrereeeeeeeeenns . 3T9d.
(A) Coordination (A) HHEIEN
(B) To influence other ministries (B) TR HATCHER GHTe 2[R uaT=
(C) Centralization (C) helRIom=T
(D) Guidance (D) WATCSiehT=T
11 [P.T.O.



23.

24.

The Prime Minister’s office :
(1)
(2)

was created in 1950

known as the Prime Minister’s
secretariate till June 1977
no subordinate offices are
attached to it

to assist the President

(3)

(4)

Codes :

(A) (1) and (2)

(B) (2) and (3)

(C) (3) and (4)

(D) (1) and (4)

Which of the following statements

are true about the Chief Secretary ?

(1) Chief Secretary has been
excluded from the operation of
the tenure system.

(2) He is the chairman of the

Planning and Development

Coordination Committees.

(3) He is the only advisor to the

Chief Minister.

He is the Head of the State

Civil Services.

Codes :

(A) (1), (2) and (3)

(B) (2), (3) and (4)

(C) (1), (2) and (4)

D) (1), (2), (3) and (4)

(4)

23.

24.
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EEIEEEIRCIR R

(1) T&OAT 1950 el e

(2) S 1977 THd GHFEAT Araared
A e S

(3) foreq wmEieE Sieae A&l

(4) TZUAAT WRRA 0]

wfgar :

(A) (1) 7for (2)

(B) (2) 3o (3)

(C) (3) o (4)

(D) (1) o (4)

& Hiaamamed Seierde! v faem

T 3ed ?

(1) q&a gfeadaren wEsd Tgargd
TSI A 3T

(2) @ fagg g faeH g9 gfud=n
JEE] Tl

(3) T woK JEARAT HealR 3Tl

(4) TSI HAE e THE ST
Hehdieh :

(A) (1), (2) @i (3)

(B) (2), (3) =for (4)

(C) (1), (2) =mfor (4)

(D) (1), (2), (3) 37foT (4)
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25.

Who recommended a mix-career
examination for senior public

servants ?

(A) Administrative Reforms

Commission
(B) Sixth Pay Commission
(C) Paul Appleby

(D) Sarkariya Commission

25.

APR-2121711—A

i3 TAe! HaAhdl fHg-3Tshifaent

wraEn RreRw Foft s ?
(A) TRIEHRT FEUR AN
(B) Hgrel o 3T

(C) dfal STuerst

(D) GhIET STERT

26. Which one of the following | 26. 3Ty Tk HaaTeq Aleehle-degaiaT
recommendations was not made by e TR R fee e
the Northcote-Trevelyan Report

e ?
regarding Modern Public Service ?
(A) reservations for the (A) gﬁf&]ﬁ TRl ST
underprivileged
(B) TUrEERId S@dt
(B) promotion by merit
(C) recruitment by competitive (C) smermfErsda fAYas T
examination rather than qfafren AT foregerett
patronage
. : (D) faga/o=nfies stfon At wEuTen
(D) a distinct between intellectual
and mechanical work Eapit R
13 [P.T.O.



28.

29.

Committee observed

“The right promotion at the right
time is an essential part of the
process of developing the full
talents of men and women in the

services.”

(A) Kothari
(B) Appleby
(C) Fulton

(D) Northcote

In which year was the Indian Civil

Code drafted ?

(A) 1960

(B) 1962

(C) 1964

(D) 1968

Audit of State Government is :
(A) A state subject

(B) On the concurrent list

(C) A union subject

(D) A residuary subject

28.

29.

APR-2121711—A

“ A qedT AP <0 Yadid Sl

TeuHeEe ol JfgHan foenfaa svar=n
ishadial Tk Heara 9 AR

(A) ISR
(B) 3Tqorsit
(C) Heted

(D) eI

AR A Ffgd=n FgT o st
TR el ?

(A) 1960
(B) 1962
(C) 1964

(D) 1968

TSR A@TIa g :
(A) TSI fosm
(B) wHEd=dE oo

(C) HeRp=dre fam=
(D) IenfgeRR fasg

14
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30. In which year plan and non-planned | 30. <hivren ot f=fSIa snfor sif=nfsid ==
expenditure were classified ? FITERTOT FIAT AT 2
(A) 1997-98 (A) 1997-98
(B) 1986-87 (B) 1986-87
(C) 1987-88 (C) 1987-88
(D) 1989-90 (D) 1989-90
31. The National Development Council | 31. U=E fas™ gRege s T
of India does not consist of e AET.
: . (A) TA9EH
(A) Prime Minister
(B) Deputy Prime Minister (B) 4T
(C) Finance Ministers of States (C) T foresh
(D) Chief Ministers of States (D) T ﬂ@q:.i;ﬂ
32. In which part and chapter of Indian 39 IR TSI S0 S F 0T
Constitution administrative relation e e e e i
between centre and state are
e ?
mentioned ?
. (A) YR TTEAAT 9T 3T TR
(A) Part XI Chapter II of the Indian o
Constitution
(B) Part IX Chapter IT of the Indian (B) SR Tereie=l 9 % e
Constitution aH
(C) Part VIII Chapter III of the (C) WA eI T S FHTT
Indian Constitution K
(D) Part XI Chapter III of the (D) T ToTET=2 AT 3R el
Indian Constitution iG]
15 [P.T.O.



33.

34.

35.

The most effective means of citizens,

control over administration is :
(A) Elections

(B) Pressure groups

(C) Advisory committees

(D) Public opinion

Who is considered as the architect
of citizen charter ?

(A) B.N. Haksar

(B) George Major

(C) Lord Linton

(D) Lord Dippon

Who was the chairman of Second
Administrative Reforms Commi-
ssion (ARC) ?

(A) Morarji Desai

(B) Pranab Mukherjee

(C) Veerappa Moily

(D) K. Hanumanthiya

33.

34.

35.
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RIS’ TR =0 STfagerel
HIEAH I ?

(A) Traeue

(B) <o e

(C) HeedMR |fHet

(D) wehad
TR e &
e ?

[Cqh X Eeileddeh! hIvl

(A) &.TF. BRR

(B) wifS HSR

(C) @re faed

(D) «re <o

1 USMHehE GHR ST ST hI0l
B ?

(A) WS T

(B) WUl HE@ISI
(C) forrom Hrgedt

(D) . TIHIE

16



36.

Who wrote the book entitled

“Methods in Social Research” ?
(A) Max Black

(B) F.J. Michigan

(C) Good-Hatte

(D) Robert Acoff

36.
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“Heoreg = v REE @ vy wroh
fafeen ?

(A) Y =Tk

(B) Th. . faufm

(C) TS 3fur ge

(D) Ve THIh

37. Empirical phase in research process | 37 e gfwd=a Sﬂmﬁ 3TTEYq
involves P w a aﬁ
(A) Selection of problem (A) A& fere
(B) Specifying concept (B) forTsigha Hehed
(C) Data collection (C) T Hheld
(D) Report writing (D) ST e
38. Arithmetic mean is used in : 38. SRR HeATHE =N AR
gl
(A) Qualitative Analysis
(A) ok fargerson
(B) Orderly Ranking of Units
(B) Y=l i e
(C) Calculating Ratio
(C) 379 o
(D) Comparing
(D) o
17 [P.T.O.



39. Match List I with List IT and select

the correct answer from the codes

given below :

(@)
b)
(c)
d)

(1)
(2)
(3)
(4)

List I
(Interview)
Structured
Semistructured
Unstructured
Hard
List II
(Research)
Qualitative
Quantitative
Quantitative and Qualitative

More in Quantitative than in

Qualitative

Codes :

A
(B) 3)
©) @

(D) (2)

(@ (b)
2)
(4)

(2)

()
3)
(1)
3)

(d)
(4)
2)
(1)

@ 1 @
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39. gE I Hierd F=T 11 S A1 @ieita
HehdiehIqd AFd Ia el

(@)

b)

(c)

d)

(1)

(2)

3)

4)

et 1
GEATHS

IS

HEATHE AT TS

N .
TUTCHR YT STTE] H&ATHSh

- -
-
-

A (D

B) 3

©) @

D) (2)

@ B @© @

2 3 @

4 @O @

2 B @

@ 1 @
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40.

Which is the first stage of ‘data

processing’ in social research ?
(A) Coding

(B) Editing

(C) Computing of the scores

(D) Preparation of master charts

40.
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TSR IR G Hifgdt/qed

yfrarRiomdia gfeet 9198 hiordl
I ?

(A) Trehdiehiol
(B) TURA
(C) U &= Ui i

(D) @ TR &

41. Department of Social Security was | 41. SIS Feam fquume oo
redesignated in : HEY A e
(A) January 1966 (A) SHa 1966
(B) January 1956 (B) SHat 1956
(C) January 1959 (C) SHard 1959
(D) January 1967 (D) SHeRT 1967
42. Social Justice Department has two | 42. WIS = fa9rm= 9 fokgd fawm
broad divisions : 7 SRd
(A) Welfare and Child Welfare (A) HeHU 3TV ATTheaTIl
(B) Welfare and Finance (B) eamm s foxita
(C) Welfare and Tribal (C) hear 3fur syfeardt
(D) Welfare and Scheduled Caste (D) =heam M0 Srggfed Sl
19 [P.T.O.



43.

44.

Match List I with List IT and select
the correct answer by using the
codes given below :

List I
John Rawls
Henry Metcalf
Michael Sandel

(@)
®)
(c)
(d) Amartya Sen

List II
The Idea of Justice

Liberalism and Limits of

(1)
(2)
Justice
(3) A Theory of Justice
4)
Codes :
(@)
@A @
B) 2)
© @1 @ 6 @
M 3 @ @ @

Who was the chairman of the

Industrial and Social Justice

(®)
4)
4)

(c)
3)
@)

(d)
2)
3)

Economic Reforms Commission
(1981-84) ?

(A) LK. Jha

(B) Dharma Vira

(C) K. Hanumanthiya

(D) B. G. Deshmukh

43.

44.

APR-2121711—A

=19 g I & Sfesan S0 BTt
feeiean Hehdlehlqd =g Sark e :
Tt 1
S et
T AT
gehel Hed
A I
e 11

T e A% Sy
ferafergm sfue fafyey oife SEg
3) f& el afw ™
(4) TTEEA 3fvg TR TEE
Hehdich :

(@)
A (D
B) 2)
© @O @ 6 @
D 3 @ @ @
3TYf YUR STERT (1981-84) &84
0 Bd ?
(A) TH H. =
(B) =¥ fo
(C) &. TIH=

(D) . Sit. <@

(@)
(b)
(c)
d)

(1)
(2)

(b)
4)
4)

(c)
3)
@)

()
2)
3)
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45.

46.

Reservation for the Scheduled
Castes and Scheduled Tribes in the
services has been provided in the
Indian Constitution under ................ .
(A) Article 315

(B) Article 335

(C) Article 365

(D) Article 375

Modern local government differs
from ancient local government in its
Representative character
Elective nature

Legal position

(4)
Codes :

A (1)

B) (1), (2)

C) (1), (2), 3)

D) (1), (2), (3) and (4)

Popular demand for creation

45.

46.

APR-2121711—A

Hardial sTIgfaa St enfor srggf=a
SHIGTEG SR A ToTsedr

I HOHIER ol &R,
(A) | 315

(B) <eH 335

(C) <hetH 365

(D) ™ 375

SMYfTen TR IMEA § e &1
IMEATET HI S 9= e ?
(1) wifafaes afimes

(2) Traifaa @&y

(3) MR =il

(4) TS SRRt
Gehdieh :

A) (1)

B) (1), (2)

C) (1), (2), (3)

(D) (1), (2), 3) a (4)

47. Which one of the following pairs is | 47. Eeilcidah! I SISl AT gaiﬁﬁ‘}
not correctly matched ? T e ?
(A) Employee’s Provident Funds (A) FHA 9fas frafe fe HEe—
Act—1952
1952
(B) Hindu Marriage Act—1955 .
(C) The Prohibition of Child (B) %iw PTAT— 1955
Marriage Act—1975 (C) SreifeTe S FTHEI—1975
(D) Dowry Prohibition Act—1961 (D) g1 Wfee ei—1961
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48.

49.

The ‘two-child norm’ for the elected

representatives in Panchayats was

introduced 1in Maharashtra

N e, .
(A) 1992
(B) 1994
(C) 1990
(D) 2003

According to the 73rd Constitutional
amendment, which of the following

provisions are optional for states ?

(1) Voting rights to MPs and MLAs

in local self government

(2)

OBC reservation in Panchayati
Raj

(3)

Financial powers of Panchayati
Raj

4)
Codes :

Autonomy of the Panchayats

(A) (1) and (2)

(B) (2) and (3)

(C) (1), (2) and (3)

D) (1), (2), (3) and (4)

48.

49.

APR-2121711—A

TERTSTHE Jamd Sei= et
SHEANAT SF 319 HIQT=] 3T hIued

o1 R G e A 1 |

(A) 1992

(B) 1994

(C) 1990

(D) 2003

73S FRAGEKITHR, WeHeTueh! Shivrea

el TearEel ifessd R ?

(1) Torrfies T@EMEAE ©EgR - 3101
STAER A=l HATTEehR

(2) TEEd USHEA S ARTHEE
SATETIT

(3) v=EE Te faxiig AR

(4) YA S

Hehdieh :

(A) (1) s7for (2)

(B) (2) 37fr (3)

(C) (1), (2) 3701 (3)
D) (1), (2), (3) =0T (4)
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50. Assertion (A) and Reason (R) Pattern :

Assertion (A) : Women participa-

tion in public
affairs is an
important consti-

tuent of women

empowerment.

Reason (R) : 1/3 Reservation for
women has been
provided under
the 73rd amend-
ment of 1992.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A)and (R) are false but (R)

is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

APR-2121711—A

50. faum (A) sTfor RO (R) ® 7@

faeam (A) : TESHE S S
TWEATT § S gadi-

ch{UII\'Ir\I('I Hetdldl ©®cen
e,

RUT (R) : 1992 @ell Seiedl YR
TSI 73T HAT-
ORI ST 1/3 SARE
SR hed.

Trelt feiean Hehdihmyd g A
ferer
Hehdich :

(al N

(A) (A) g (R) T2l sIsR 2A_d 3Tfor

(R) T (A) ¥ T IR 3T

(B) (A) g (R) Tt I 3Ted, 901 (R)

7 (A) T T TR AR

(C) (A) T IR R, WG (R) T IH
3R

(D) (A) T I% 3R, g (R) § TN
3T
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ROUGH WORK
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